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Credit Based IV Semester B.A. (HRD) Examination, April/May 2017
(Common to all Batches)
FINANCIAL MANAGEMENT

TEOTAR ATEBHR
- Time : 3 Hours '_ Max. Marks :100

Instruction : A single answer book containing 40 pages will be issued. .
No additional sheets will be issued.

| . SECTION-A

(15 Marks each) Co:
TR — D i
(gao&raodm 15 L0IND)
Answer the following : (15x3=45)
3INS TIrent «uzgdR0:

1. What is Financial Management ? Explain the scope of Financial Managément.
TETTORD VI B 0T ? BEFTORD VadF BESOD a%a_gcmdg{ DSOXD.

OR/eage

Explain the sources that satisfy the short term requirements of funds of a firm.
‘ PBRT 3RS0 SBECD SBF TN FRGRE BeoTorS IBNTR) FORO.

2. Performa cost sheet of a company provides the foliowing details :
20030 FOTAOID ﬁzgd DI B3 NS mmﬁe‘s@( QRT3 :

Elements of cost Cost /Unit (%)
53, L.9RROBLR Lot B3 obwdtrs (%)
Raw material (325, 3532) 120
Direct labour (329) : : 80
Overhead (o¢&,23 ) 1
Total cost per unit (=& ORRETR 20830, 323, 3.) 250
Profit (» (oo -
Selling price (maoa_w W) - 1«

P.T.O.
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The following particulars are available :
B3 BSNS DRENTL VYT :

a) The budgeted production is 18000 units.
BBS T 18000 OREF L.

b) Raw materials are expected to remain in stores for 2 months. -
RRETPDTE), f#zs%dzg QT 2339 2 Sone.

) Material in process 2 month.
Zri3c30ts 3S8 Y2 o,

d) Finished goods in stock for 3 months.
' %:Céﬁfaocé TN BT 3 Sonsho.

é) Credit allowed by suppliers of materials 22 months.
ONT) AeRE T B35 2V2 Soneh.

f) Credit allowed to customers 3 months.
BN QR T B[R 3 Soried.

g) Minimum desired cash balance  45,000.

[BUEET TIF TRReT I 8 X 45,000.
Prepare statement showing estimation of working cépital requirement.
T3ROS LOBTVB, 0T TRRB FEas008), BoSORD.

OR/&g=

Explain the factors affecting working capital requirement of a firm ?
dddofba% uodm@dsﬁgpcﬁrcmd e;acaé"frie’dd%t DROO.

- 3. What s capital structure ? Explain the factors influencing the capital structure of

a firm.
200TmY 023 203307 WoRewY dziécmdgt ?0:;5*.-‘0#03 _e;aoeiﬁe.?sgt QTOXD.

OR/egs
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The following details are available relating to a project::
Bpee 1t FoLdogimed, BTN 83 3ENT08S :

Cost df the project
(Rpis 355

Life of the project
(Bpse S weownR)
Method of depreciation
(BaA0ET I3

Year

5

6
Compute the following :
33 IFNSINID AP 020!

a) Payback period
BT €930

b) Average rate of return
DV TetF S O3

c) NPVat10%
DR 10%

—  ¥4,20:000
34,20,000

- bByears
T eIIEND

— _ Straight Line Method
BT S e—u’%a |

Cash inflows (%) PV of Re. 1.at
Snth woEem)  10% o3 1 8n.R PV

1,00,000 ~ 0.909
1,80,000 0826
2,00,000 0.751
- 2,40,000 0683
1,90,000 0.621
1,50,000 - 0.564

d) Profitability Index at 10%.

Y3 B0 10%.
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SECTION-B
(5 Marks each)
, ATN—W
(gsos@oww% 5 @o3nw)

Answer any six questions : : \ (5x6=30)
OIRR)TRTTR & @%ﬁ#ﬁg{ VB0 :

1. Write a note on preference shares.
LTS, Feoons? e} 2363 2B00.

2. Explain the motives behind holding cash.
dn’dﬁg& BRoOTORN m%@fﬂ%’g@r QTOXO.

3. Define cost of capital. Explain the different concepts of cost of capital.
WOV eI, 559,30, A0, WORERY BT A0 BOFOFNI, 2%3020.

4. Explain the capital budgeting process.
T 202e30N'S T, oibcdo?o QWOXD.

5. What are the stages of operating cycle ? Explain.
STBeLION" FBS'S BOSNYD 0I0eey 7 EXTORO.

6. Calculate financial leverage, operatlng leverage and combined leverage from the

following : ‘ .
FIOT*HODCF, sEBeeson® N o, OB D) éozso&ﬁo:bb

Sales : 5000 units at ¥ 150 per unit

RT3 2 5000 c3oeReze, T 150 @& odoedes

Variable cost -X90 per unit

BB 33, : 90 I8 CDRRET

Fixed cost : 360,000

QF O3 a"a,i : 360,000

Interest : ¥30,000

W& - 330,000

@
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7. From the following capital structure of a company calculate weighted average

cost of capital :

$08003 BomROD 0B TeSOWOR Beeire” RO TR, ST TR, oTABOD:

Sources
(Sonensd)

Equity shares
(@, Heaonsd )
Preference shares
(@ﬁda: zu’edan’%b)
Retained earnings
(eovrs ey )

Debentures
(PoTZRD)

Amount (X)  After tax cost of capital

9] 839,77, 030 wordey #i,
10,00,000 20%

6,00,000 16%

1,00,000 18%

3,00,000 12%

8. From the following calculate EOQ as per Tabular method.
33 3PN ReNYorn EOQ 30m0&%BCW00.

4000, 2000, 1000, 500, 250

Order sizes (in units)
AOD TTReD

Annual consumption ‘
(oarg )

Ordering cost
(ﬁd@' 3%

Carrying cost
(e )

Answer any five questions :

4000 units
T 60/Order

T 5/Unit

SECTION-C
(3 Marks each)
IR — 2
(B3l Romen, 3 wosnsh) -

CARITOTCR 2T Fe uZon0:

(3)(5:1 5)

1. Explain the relative importance between financial management and human resource

management ?

DEITOAR VadF TS 3308 WIS ﬁoﬁa{%@ Qe

BEOD VRXISBOWGE B 3, 9RO,
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2. What are the advantages of bank credit 7
23,088 U e9RBRLBNL R ?

3. State the limitations of profit maximisation objective.
T SR ERE S QTS BREERT), SPRO. .

4. What are the costs of extending credit ?
VB0 DRV ROWOGTLIS mgjﬁm SRR ?

5. State the objectives of holding inventory
RO80 TRRRINTI), BROOTT LUTBRT, SPR0.

6. Write a short note on retained earnings.
OERE?, BRF oY Wiy W, (XGsjokNsleveiel

7. ABC Lid., issues 15% debentures of X 10,00, 000 at par. Assume tax at 35%.
Compute after tax cost of debt.

2% SomRcDo T 10,00,000 S£33 15% LRE0E HOBITRY, BRoes IRed $oR
5035%, SoRRed0E OTIE SRRy FoRABD.

SECTION-D
. (1 Mark each)

NTn—-8
(D s0monan, 1eod)
Answer all the questions : | ' . (1x10=10) s
B3 INS DO, BINIR), YUBOR0: -
1. What is wealth maximisation ?
B D3RSI DOTTED ?

2. What is reorder level ?
0B O° SR 0BT ?

3. Whatis IRR ?
5 E30°e30° DOTTERD ?

4. Whatis Venture Capital ?
B020° TR OTTEO?
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Q. TR .
BLEDLS O, FORD.

6. What is time value of money ?
E3530° a5, 03, &5 00 0TI 9

7. What is dividend ?
ERLOB 0BT ?

8. What is annuity ?
‘SRR 0TV ?

. 9. What is leverage ?
O=3ees® Q0BT ?

10. What is meant by secured debentures ?
RBROE® OB, 20B38e ?
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